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36,000

20,000
16,000

o

17,280

14,400
2,880

53,
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A 36,000

308 NtXIEHMSOIE

o

17,280

14,400
2,880

53,

280

A 36,000

o

17,280
17,280

14,400
2,880

53,

280

A 36,000

SO0l AHUENE 29X

o

853,047

560,464
292,583

871,

630

A 18,583

307 glztol &

n o

853,047
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292,583

871,
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853,047
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560,464
292,583

871,
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A 18,583

SESSHEA AN

=

86,250

75,000
11,250

57,

500

28,750

308 NHXIEHMS0IE

Xl

N

86,250

75,000
11,250

57,

500

28,750

Xl

M

86,250
86,250

75,000
11,250

57,

500

28,750

sXolg2el X d

J|

296,629
296,629

296,

629

308 MtXIEHHMSOIH

Il

296,629
296,629

296,

629

296,629
296,629
296,629

296,

629

o

780,000

600,000
180,000

650,

000

130,000

W

780,000
600,000

650,

000

130,000




SN S
HE: Qs HESE
Sl MolsolYs (B9 ®R)
_ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 180,000
01 AIKISHHENEXZ 780,000 650,000 130,000
OEANQ sERIIXA 780,000
= 600,000
o= 180,000
SENESL0I=HE MY 329, 154 335,095 A5,941
2 247,454
= 81,700
308 MXISHMSOIA 329, 154 335,095 A5,941
2 247,454
& 81,700
01 IXHHINMNEEXTZ 329, 154 335,095 AN5,941
SEMEgsLd0SssHd MY 329,154
2 247,454
& 81,700
SEMEOS XNEX U3 5,000 5,000 0
201 fBt24y| 5,000 5,000 0
03 A2 G H| 5,000 5,000 0
OsZEHME0t2 NEX U3l 5,000
HsQ sIhFE2H A& 30,000 30,000 0
403 XX SHHS K20 & 30,000 30,000 0
01 XIS A=Z2E X 30,000 30,000 0
OA=s2 sIHFH2elH XS 30,000
sZE ME0t2 M #HAIXE 30,000 30,000 0
307 QI2t0| & 30,000 30,000 0
02 AI2tAMAIE E =X 30,000 30,000 0
OsZHMEgo2 M &#HAF & 30,000
A=zl & =4 19,500 156,000 A 136,500
= 15,000
o 4,500
403 XX SRS K20 & 19,500 156,000 A 136,500
= 15,000
o= 4,500
01 XS A2E X 19,500 156,000 A 136,500
OHsele & X4 19,500
= 15,000
& 4,500
HYE SASEARE ALY 85,000 0 85,000
= 85,000
308 XHXIGH SO0l & 85,000 0 85,000
= 85,000
01 AIXISHHEMNEX= 85,000 0 85,000




PN LAY
HE: Qs HESE
Sl HolsYo s CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFYE SHIHAXA 85,000
= 85,000
SEMEs2Ns=sE F2LE AtY 13,579 0 13,579
2 11,508
< 2,071
308 XXM SOl A 13,579 0 13,579
= 11,508
< 2,071
01 AXHHBILEES 13,579 0 13,579
OsENEgs2diissd 9&2s A 13,579
= 11,508
< 2,071
AR A SERY RESY MUIAXE 136,000 0 136,000
= 68,000
< 68,000
308 MtXIEHMSOIH 136,000 0 136,000
= 68,000
= 68,000
103 2SoteBaE A 136,000 0 136,000
OL=¢ e s&22 Iss9 MUHIAXR 136,000
= 68,000
< 68,000
SEME0AMM 84,986,880 102,488,566 A17,501,686
= 1,968,600
Xl 78,747,000
= 4,271,280
SOHZHOIZEES ALY 650,000 795,600 145,600
X 500,000
S 150,000
403 X SHHSA=0l& 650,000 795,600 A 145,600
Xl 500,000
< 150,000
01 HXSHMA=2E X 650,000 795,600 A 145,600
OSSO EZHDOSEZE At 650,000
Xl 500,000
< 150,000
IANHERR HEE ALY 3,635,572 2,371,500 1,264,072
Xl 2,994,000
< 641,572
403 MtXISHHE X201 & 3,635,572 2,371,500 1,264,072
Xl 2,994,000
< 641,572
01 AXSHMA=2EE 3,635,572 2,371,500 1,264,072
OJIASEHZ &2F At 3,635,572
X 2,994,000
< 641,572




PN LAY
HE: Qs HESE
chelr SEFZEO0INA CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEXNS SEMNY MG (HF) 10,875,957 20,335,429 AQ,459,472
Xl 10,429,000
< 446,957
403 UHXISHHSA=0l& 10,875,957 20,335,429 AQ,459,472
Xl 10,429,000
< 446,957
01 HXESHMA=LE L 10,875,957 20,335,429 AQ,459,472
Os&EXY SEHL AP (AA) 10,875,957
Xl 10,429,000
< 446,957
OrSE? S 1,618,514 4,338,514 A 2,720,000
Xl 1,552,000
< 66,514
403 MtXISHH S0l & 1,618,514 4,338,514 A 2,720,000
Xl 1,552,000
< 66,514
01 AXSHMA=2E X 1,618,514 4,338,514 A 2,720,000
Oolt=te SEHE 1,618,514
Xl 1,552,000
< 66,514
DEH? 3s23=1X 1,393,257 0 1,393,257
Xl 1,336,000
< 57,257
403 A X EHHS =0l A 1,393,257 0 1,393,257
Xl 1,336,000
= 57,257
01 X EHHMA=LE L 1,393,257 0 1,393,257
onste 2s2s =X 1,393,257
Xl 1,336,000
< 57,257
otscel ZH(HNELAS) 251,329 0 251,329
X 241,000
< 10,329
403 XHXIEHHI S Xt 20 ® 251,329 0 251,329
X 241,000
< 10,329
01 HXSHHMA=E X 251,329 0 251,329
oottt FM(MEgAS) 251,329
Xl 241,000
< 10,329
OtScel S22 (Z24H) 3,805,386 0 3,805,386
Xl 3,649,000
< 156,386
403 XSS AE201 & 3,805,386 0 3,805,386
Xl 3,649,000
< 156,386




SN S
HE: Qs HESE
SR - ECER CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 3,805,386 0 3,805,386
OllSHe Z (ZFZME) 3,805,386
Xl 3,649,000
< 156,386
SEME BFFH ALY 1,887,571 1,804,457 83,114
Xl 1,810,000
< 77,571
403 MHXISHE X201 & 1,887,571 1,804,457 83,114
Xl 1,810,000
< 77,571
01 X SHHN2E = 1,887,571 1,804,457 83,114
OsEdE 33l A 1,887,571
X 1,810,000
S 77,571
dAAOSELE A Y 1,071,014 182,400 888,614
Xl 1,027,000
< 44,014
403 A X EHHSH20IA 1,071,014 182,400 888,614
Xl 1,027,000
[ 44,014
01 X ESHHMA=LE L 1,071,014 182,400 888,614
O&R0ISx=E AtY 1,071,014
Xl 1,027,000
L3 44,014
sESAA 2435 MG (H8EXF) 6,001,643 65,333,943 A 59,332,300
Xl 5,755,000
< 246,643
403 MtXSHHS =0l & 6,001,643 65,333,943 A 59,332,300
X 5,755,000
< 246,643
01 X SHMA=2EE 6,001,643 65,333,943 A 59,332,300
OsEZHX 43 M (A=) 6,001,643
Xl 5,755,000
< 246,643
SESHA 24835 A (LeHXF) 43,486,100 0 43,486,100
Xl 41,699,000
< 1,787,100
403 UHXISHHE X201 H 43,486,100 0 43,486,100
Xl 41,699,000
< 1,787,100
01 AXSHHMA2E = 43,486,100 0 43,486,100
OsEZMX 43 AP (L8R 2) 43,486,100
Xl 41,699,000
= 1,787,100
I =MEoI Tt EY AL 4,672,000 1,191,029 3,480,971




PN LAY
HE: Qs HESE
2 sEFFHAMA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 4,480,000
< 192,000
403 X SHHS =0l & 4,672,000 1,191,029 3,480,971
X 4,480,000
< 192,000
01 XM A2E X 4,672,000 1,191,029 3,480,971
OJdlz=daol Tt HH At 4,672,000
Xl 4,480,000
< 192,000
A2 Eol 010ICIo Al 2,064,857 5,311,314 N3,246,457
Xl 1,980,000
< 84,857
403 X SHS X =0l H 2,064,857 5,311,314 N3,246,457
Xl 1,980,000
< 84,857
01 AXSHMA2E = 2,064,857 5,311,314 A 3,246,457
OAlZ &2 OlOICINH ALY 2,064,857
Xl 1,980,000
< 84,857
ANz S&2s A 1,350,500 813,200 537,300
Xl 1,295,000
< 55,500
308 A EHHSOIA 1,350,500 813,200 537,300
Xl 1,295,000
< 55,500
01 HXNHHNBHEES 1,350,500 813,200 537,300
OANlZ d&23 ALY 1,350,500
Xl 1,295,000
< 55,500
sEQE MUlA & ot NE 11,180 11,180 0
= 8,600
= 2,580
308 XXM SO0 A 11,180 11,180 0
= 8,600
= 2,580
01 IXNHHBNEES 11,180 11,180 0
OsHELUE M NEXA 11,180
= 8,600
< 2,580
& sE TZHE A (EA) 442,400 0 442,400
= 392,000
< 50,400
308 XtXIEHHSOIA 442,400 0 442,400
= 392,000
< 50,400
01 HXNHHBHEELS 442,400 0 442,400




2N
X ZH -
L= B

el

LR
ge9ls YESE
SEFFOANM

5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
OEI|& SETZNME AY 442,400
= 392,000
= 50,400
)& SETRNME A (L) 1,769,600 0 1,769,600
= 1,568,000
= 201,600
403 XX SHHS K20 & 1,769,600 0 1,769,600
= 1,568,000
& 201,600
01 AIXISHMA=2E X 1,769,600 0 1,769,600
O)|& SETR2ME ALY (X)) 1,769,600
= 1,568,000
& 201,600
So=EXESA 3,075,289 3,013,059 62,230
= 11,500
= 3,063,789
SHOICHH A 164,000 177,000 A 13,000
307 QI2t0| & 164,000 177,000 A 13,000
04 CIZ2tSHALALS B X 164,000 177,000 A 13,000
OsgolcHgols d&au= 10,000
O=cls4a=2 XZ0| HHO A 12,000
Os=sE=CHY IIESH0LE &AL 30,000
OF=Z2=sIIs=X T3l HE 10,000
Od=sgol d=20U3 &It 20,000
OsgdIGe =ha = 82,000
sHAEYE HZ2 124,229 124,229 0
308 XX EHH SO0l & 124,229 124,229 0
01 AIKSHHEMNEXZ 124,229 124,229 0
Osgdd9Hd sg3d9 838 =2 111,149
Osglls 82X M3 13,080
SOl oM ZBH JIL XA 265,000 202,680 62,320
308 AXIEHSOIA 265,000 202,680 62,320
01 AIXSHMENMNEX= 265,000 202,680 62,320
O=sgol ot ZH I K& 265,000
ANEsM SAH XA 123,700 124,950 A 1,250
308 XHXIEHSOIA 123,700 124,950 N 1,250
08 W=EJl&otistE = 123,700 124,950 AN 1,250
OXNE=sM SAH XA 123,700
HEsHYHEH 29X 9,000 9,000 0
308 MXISHHSOIA 9,000 9,000 0
01 IXHHNIMNEXS 9,000 9,000 0
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2N
X ZH -
L= B

el

SRR
ge9ls YESE
TeiSsiAe s4

SA - BB B () - MM - BES Ol &t o San HmEET

= 62,000
< 18,600

01 IXNHHBNEES 80,600 81,900 A 1,300
OsEFHMAE 80,600
= 62,000
< 18,600

SENMNY B4 160,000 499,500 A 339,500
Xl 140,000
< 20,000

202 odl 5,000 3,000 2,000
Xl 5,000

01 = LH o4 1l 5,000 3,000 2,000
OELNHESLAY BH 5,000
Xl 5,000

307 glz2tol & 5,000 7,000 A 2,000
X 5,000

02 It HAHE X 5,000 7,000 A 2,000
Ot SEMISHANY HdLE 5,000
Xl 5,000

308 XXM SOIA 150,000 489,500 A 339,500
Xl 130,000
= 20,000

01 IXNHHBANEES 150,000 489,500 A 339,500
OFEMASHAIG (2 4 150,000
Xl 130,000
< 20,000

JALZHAZAHEN 5,002 3,348 1,654
= 4,239
< 763

308 A EHHSOIA 5,002 3,348 1,654
= 4,239
< 763

01 HXNHHBHELS 5,002 3,348 1,654
OZ2L2HANF =M 5,002
= 4,239
< 763

otMst sE0IS 2SI 700,000 900,000 A 200,000

403 MtXISHH S =0l & 700,000 900,000 A 200,000

01 X SHMA=2E X 700,000 900,000 A 200,000
Ootds s&E0t2 eS| 700,000

SHE HEZ - IS - 7S AEXR 2,184,000 2,192,000 A8,000
Xl 1,820,000
< 364,000

403 MtXISHHE X201 E 2,184,000 2,192,000 A 8,000




SRR
ge9ls YESE
TeiSsiAe s4

SA - BB B () - MM - BES Ol &t o San HmEET

Al 1,820,000
< 364,000

01 HIXSHMA2E X 2,184,000 2,192,000 A 8,000
OsdtEs ML -8 - 78 AN 2,184,000
Xl 1,820,000
< 364,000

SHE ZSHa8s 832 139,500 139,500 0
= 139,500

308 XX EHHSOIA 139,500 139,500 0
= 139,500

01 AXHHILEES 139,500 139,500 0
Os0E SsHEds 8328 139,500
= 139,500

SHE SsHads8 NF3AdH 120,000 120,000 0
= 60,000
< 60,000

307 gl2tol & 120,000 120,000 0
= 60,000
< 60,000

02 IZHE M AHE L 120,000 120,000 0
Os0E SSHELEINJIAEH 22X 120,000
= 60,000
< 60,000

sEFSX 71,500 50,700 20,800
= 55,000
< 16,500

308 XXM SO0 A 71,500 50,700 20,800
= 55,000
= 16,500

01 IXNHHBANEES 71,500 50,700 20,800
OsERs & 71,500
= 55,000
< 16,500

sNEESOtE 2 & Xl&el 6,900 6,900 0

202 (4dl 6,900 6,900 0

01 = LH Yl 6,900 6,900 0
O=sXHdE GIIHEQ)S X &0l 6,900

sEMsUsXE 25,000 0 25,000
= 25,000

308 A EHHSOIA 25,000 0 25,000
= 25,000

01 HIXNHHNBHEELS 25,000 0 25,000
OsEMsUsX 25,000
= 25,000




SN S
HE: gy HESE
SR NASSHAY |4 (&)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
6AtAtE S N2 08 2F L AFE e Eot 798,000 933,000 A 135,000
= 425,000
S 373,000
307 @lz2tol & 798,000 933,000 A 135,000
= 425,000
< 373,000
02 (I BAAMHEE 798,000 933,000 A 135,000
O6xtatdst X2l 2 L A3 Eot 798,000
= 425,000
S 373,000
A B EHZS(IIE)RE ALY 100,000 100,000 0
2 50,000
= 50,000
307 giztol & 100,000 100,000 0
2 50,000
= 50,000
02 B LML E X 100,000 100,000 0
O6Xtatd TOHEHRS (O F= ALY 100,000
2 50,000
& 50,000
HY2IZH (sZHH D) 92,140 87,140 5,000
Jl=3Hl 92,140 87,140 5,000
=33 92,140 87,140 5,000
201 2Bt Yl 17,740 17,740 0
01 AtR 2t 2l | 17,740 17,740 0
OJlg+8Hl 7,240
OJl2=gl 10,500
202 o4 4l 37,800 37,800 0
01 =LHO I 37,800 37,800 0
o120l 37,800
203 R =&Y 27,600 27,600 0
01 I 2282 FaHl 6,600 6,600 0
Osd8=d& 6,600
04 FAN23ERFAH| 21,000 21,000 0
OsgdEM 4,200
ORIl= bkt 4,200
ORHRSAHS I 4,200
O=41t 4,200
Odtg =71t 4,200
405 Xt&tE =HI 9,000 4,000 5,000
01 et LS =3 S| 9,000 4,000 5,000
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